50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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tModule-l

Explain the control characteristi 1) GTO 11) MCT lli')LSCR iv) SITH v) BJT.
Wlth help of waveforms and cm:mt diagrams. 10 Marks)

(10 Marks)

; 1 (10 Marks)

What are the necessny of 1solat10n of gate . and-base drives? Explain how the 1solation can be

achleved 3 (10 Marks)

Module-2

Explam the VI characteristics of SCR with different operating modes. (10 Marks)
With the help of circuit dlagrama explain the prmc1ple of complementary commutat1on

l (10 Marks)

B (10 Marks)
vhose minimum gate trlggermg voltage is 6.2V. The
A, I, = 3mA, Rpi’+ Rpy = 5kQ leakage current =

frequency is 2KHz and capacity C = 0.04pF. Design

UJT ratings are n =0.66, I, =0
32mA, Vj = l4V, Iv = 1V oscillat

the complete circuit. . (10 Marks)
A Module-3 *

Explain the pnnc1ple of ON-OFF control and phase control techniques used in an AC
,,ﬁy,kvoltage controller. 4 * / (10 Marks)
. “Explain the operati fsingle phases semi Converter with circuit, waveforms. (10 Marks)

OR

With neat circuit diagrams and waveforms, explain the operation of half wave controlled

rectifier with RL load. (10 Marks)

An on/off controller, with an input of 230V, 50Hz is connected to a resistive load of 20Q.
The circuit is operatingtwith the switch ON for 30 cycles and switch off for 30 cycles.

Determine: 1) rms output current ii) Input power factor. (10 Marks)
Module-4
Explain the operatlon of a step down chopper with RL load. (10 Marks)

A DC chopper has a resistive load of 20Q2 and input voltage Vs = 220V. When the chopper
is on, its “voltage drop is 1.5V and chopping frequency is 10KHz. If duty cycle is 80%
determine the average output Voltage rms output voltage and chopper on time. (10 Marks)
1 of2
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OR b

Explain the principle of operation of a step up chopper Draw waveforms and circuit
diagram. d (10 Marks)
Input to the step up chopper is 200V. The tppt"required is 600V. If the conducting time of
thyristor is 200us. Compute : oy
1) Chopping frequency
ii) If pulse width is halved for constant frequency of operation ﬁnd the new output voltage.

(10 Marks)

Module-5 ¢
With a neat circuit dlagram, explain the operation of a three phase transistorized inverter in
180° conductxon mode w1th star connected R load : (10 Marks)

waveforms. & , (10 Marks)

Explain smgl ‘pulse width modulation for voltage control of single phase inverter. (10 Marks)
Write a note on performance parameter of inverter :

: X th

1) rmoﬁlc factor of n~ harmonic
ii) Total harmonic distortion (THD)
iii) Distortion factor (D.F.).

(10 Marks)

20f2




